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QUESTION 1

Which two statements are true regarding hot patching? (Choose two.)
A. It requires relinking of the Oracle binary.

B. It does not require database instance shutdown.

C. It can detect conflicts between two online patches.

D. It is available for installing all patches on all platforms.

E. It works only in a single database instance environment.

Correct Answer: BC

QUESTION 2

You are in the process of creating a virtual private catalog in your Oracle Database 11g database. The
PROD1,PROD2, and PROD3 Oracle Database 10g databases are registered in the base recovery catalog.
The databaseuser who owns the base recovery catalog is CATOWNER. CATOWNER executes the

following command to grantprivileges to a new user VPCL1 using Oracle Database 11g RMAN executables:
RMAN> GRANT CATALOG FOR DATABASE prod1, prod2 TO vpcl;

Then you issue the following commands:

RMAN> CONNECT CATALOG vpcl/oracle@catdb;

RMAN> SQL "EXEC catowner.dbms_rcvcat.create_virtual_catalog;"

What is the outcome of the above commands?

A. They execute and create a virtual catalog for pre-Oracle 11g clients.

B. They produce an error because PROD1 and PROD2 databases belong to the older version.

C. They produce an error because you need to connect as CATOWNER to execute this packaged procedure.
D. They produce an error because you need to connect to the target database to execute this packagedprocedure.

Correct Answer: A

QUESTION 3

You are using the control file to maintain information about the database backups that are being performed by Recovery
Manager (RMAN).
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Identify two scenarios in which you must have a recovery catalog.
A. To store the backup information of multiple database

B. To restrict the amount of space that is used by the backups

C. To maintain a backup for a certain time is set by the CONTROL_FILE_RECORD_KEEP_TIME parameter.

D. To list the data files that were in a target database at a given time by using the AT option of REPORTSCHEMA

command.

Correct Answer: AD

QUESTION 4

Examine the parameter settings in your database.

archive lag target

db flashback retention target
fast start io target

fast start mttr target
memory max target
memory:target

pga_aggregate target

sga target

SQL> SHOW PARAMETER SGA MAX ST

sga max size

Which statement is correct about the database?

integer
integer
integer

integer

big
big
big
big

big

integer
integer
integer
integer

integer

A. Automatic memory management is disabled because PGA_AGGREGATE_TARGET and SGA_TARGET are not set.

B. The instance is started but the database will not be opened until PGA_AGGREGATE_TARGET and SGA_TARGET

are set.

C. The database is opened but users cannot perform transactions until PGA_AGGREGATE_TARGET

andSGA _TARGET are set.

D. Automatic memory management is enabled and, as per policy, 60% of the memory for System Global Area (SGA)
and 40% of the memory for Program Global Area (PGA) will be distributed at startup

Correct Answer: D

QUESTION 5
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Examine the following set of RMAN commands:

RMAN> CONFIGURE CHANNELdelDEVICETYPEDISK FORMAT \\/u02/backup/%U*; RKAN>RUN {
ALLOCATECHANNELChIDEVICETYPEDISK; EXECUTESCRIPTfull_backup; }

Which statement is true when the RMAN run block is executed?

A. The execution of the script fails because multiple channels cannot coexist.

B. The script is executed and both the channels are used for the script execution.

C. The new channel, CHL, is ignored because a channel has been configured already.

D. The persistent configuration parameter DC1 is overridden because a new channel is allocated in the RMAN run
block.

Correct Answer: D
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